MATHS

BOOKS - CALCUTTA BOOK HOUSE MATHS (BENGALI
ENGLISH)

FACTORISATION

1. Factorise : 4z* + 81

o Watch Video Solution

4 4
. T
2. Factorise : — — ¥y

16 81

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GdbpsR3qFmNr
https://dl.doubtnut.com/l/_mWnSjLkNFECN
https://dl.doubtnut.com/l/_pSP4uLmKlp0Y

1
3. Factorise : m? + — +2—-2m — —
m?2 m

° Watch Video Solution

4.Factorise : 3z(3z + 2z) — 4y(y + 2)

° Watch Video Solution

5.Factorise : 322 + dzy + y* — 222 — 22

° Watch Video Solution

6. Factorise : z° — y2 — 6azx + 2ay + 8a’

° Watch Video Solution

7.Factorise : a2 — 9b + 4¢®> — 25d% — 4ac + 30bd



https://dl.doubtnut.com/l/_pSP4uLmKlp0Y
https://dl.doubtnut.com/l/_Tb5VteryX4SM
https://dl.doubtnut.com/l/_93yalYwKZXwV
https://dl.doubtnut.com/l/_XwwKu9R00lwN
https://dl.doubtnut.com/l/_fpoywg42edrB

_ o Watch Video Solution

8. Factorise : (m2 — y2) (a2 — b2) + 4abzy

o Watch Video Solution

9. Factorise : 22 — 2x — 22499

o Watch Video Solution

10. Factorise : 2b°c® + 2c%a® + 2a%6> —a* — b — &4

o Watch Video Solution

1
11. Factorise : z* + — +1
T

o Watch Video Solution



https://dl.doubtnut.com/l/_fpoywg42edrB
https://dl.doubtnut.com/l/_Sctkjrn63T2e
https://dl.doubtnut.com/l/_LbZJp3GXLVZQ
https://dl.doubtnut.com/l/_JSlUNYtm7WZ5
https://dl.doubtnut.com/l/_lKHbeQNrNLku
https://dl.doubtnut.com/l/_ZQqynJ6gXuZ6

12. Factorise : (z* — 1) (y* — 1) — 4day

o Watch Video Solution

13. Factorise : (a2 — bz)x2 —2ax +1

o Watch Video Solution

14.Factorise: p* + 2p — (¢ + 1)(¢ — 1)

o Watch Video Solution

15. Factorise: z(z — 1) — y(y — 1)

o Watch Video Solution

16. Factorise: (a + b + 1)2 —4(a+b) — 25



https://dl.doubtnut.com/l/_ZQqynJ6gXuZ6
https://dl.doubtnut.com/l/_BOrOEuRVUcn0
https://dl.doubtnut.com/l/_qYypB916YkOf
https://dl.doubtnut.com/l/_eicnGliqRSXK
https://dl.doubtnut.com/l/_rm7MZ03d9oIc

_ o Watch Video Solution

17. Factorise : m* + m?n? + n?

o Watch Video Solution

18. Factorise : a®> — b — ¢ + 2bc

o Watch Video Solution

19. Factorise : a* — 6a> +1

o Watch Video Solution

20. Factorise : a® + a’ +1

o Watch Video Solution



https://dl.doubtnut.com/l/_rm7MZ03d9oIc
https://dl.doubtnut.com/l/_P7J2Eoj85h8A
https://dl.doubtnut.com/l/_R0nw5EE44Nd7
https://dl.doubtnut.com/l/_bjLxI1wg5kFp
https://dl.doubtnut.com/l/_LOL3gmD3VGvA
https://dl.doubtnut.com/l/_PpFmcm1GuYU5

21. Factorise : 422 — 9y? — 4xz + 6yz

o Watch Video Solution

22. Factorise : a? + 2a — 323

o Watch Video Solution

23. Factorise : 2 — 192 — 20

o Watch Video Solution

24. Factorise : 420 + x — z°

o Watch Video Solution

25. Factorise : a’b®> — abc — 182¢7



https://dl.doubtnut.com/l/_PpFmcm1GuYU5
https://dl.doubtnut.com/l/_XfKIsgCcUG8q
https://dl.doubtnut.com/l/_RvnMkiVR2fsZ
https://dl.doubtnut.com/l/_eYhbvSiE48LM
https://dl.doubtnut.com/l/_qp5vTPqSjMjW

_ o Watch Video Solution

26. Factorise : z* — 1022 + 16

o Watch Video Solution

27.Factorise : a® — 7a® — 60

o Watch Video Solution

28. Factorise : a® — a* — 2

o Watch Video Solution

29. Factorise : a®® — a®b® — 6

o Watch Video Solution



https://dl.doubtnut.com/l/_qp5vTPqSjMjW
https://dl.doubtnut.com/l/_gsFFRtyh6yNW
https://dl.doubtnut.com/l/_0LwlMD2Qitqr
https://dl.doubtnut.com/l/_KztjOZc2ua1Q
https://dl.doubtnut.com/l/_9rZ1jksK2Zbz
https://dl.doubtnut.com/l/_40XbsYcYHAt4

30. Factorise : 2 — v/3z — 18

° Watch Video Solution

31. Factorise: (z + 1)(x + 2)(3z — 1)(3z — 4) + 12

° Watch Video Solution

32. Factorise: (m2 + bx + 4) (ac2 + bx + 6) — 15

° Watch Video Solution

33.Factorise : 22 — bz — (a + 3b)(a + 2b)

° Watch Video Solution

34.Factorise: (a — 1)z? — z — (a — 2)



https://dl.doubtnut.com/l/_40XbsYcYHAt4
https://dl.doubtnut.com/l/_oZIEfn5fNXxE
https://dl.doubtnut.com/l/_Bb5PGX60s4tv
https://dl.doubtnut.com/l/_i30dhabwM7mI
https://dl.doubtnut.com/l/_CR8WW70Ii7vH

_ o Watch Video Solution

35. Factorise : 2% + 4pz + 4p® + 2z + 4p — 15

o Watch Video Solution

36. Factorise : p> + 2p — (¢ + 1)(g — 1)

o Watch Video Solution

37.Factorise: (z — 1)(z — 2)(z + 3)(x + 4) — 36

o Watch Video Solution

38. Factorise : (a4 +1) - 2a(a2 +1) + 2q?

o Watch Video Solution



https://dl.doubtnut.com/l/_CR8WW70Ii7vH
https://dl.doubtnut.com/l/_s30zg1LJrp4Y
https://dl.doubtnut.com/l/_n7gMAF2h4KhT
https://dl.doubtnut.com/l/_Sa6t2zth7AD9
https://dl.doubtnut.com/l/_8mtbDjVPEphd
https://dl.doubtnut.com/l/_D3PX3A9e9BwJ

39. Factorise: p* + p — (a + 1)(a + 2)

o Watch Video Solution

40. Factorise: (z — 1)(z — 2)(z + 3)(x +4) + 6

o Watch Video Solution

41. Factorise : (z — y)2 —z+y—2

o Watch Video Solution

42, Factorise : 22 + 6z — 27

o Watch Video Solution

43.Factorise : (a + b)° — 4(a + b) — 12



https://dl.doubtnut.com/l/_D3PX3A9e9BwJ
https://dl.doubtnut.com/l/_8VUGslN13wmE
https://dl.doubtnut.com/l/_ZViC8TviYxq4
https://dl.doubtnut.com/l/_OdqUMDav9Sb9
https://dl.doubtnut.com/l/_TX28NwB5KAwa

_ o Watch Video Solution

44, Factorise : (x — 2)2 —5(x—2)+6

o Watch Video Solution

45.Factorise: x> —z — 6

o Watch Video Solution

1
46. Factorise : a® + (p + E)a +1

° Watch Video Solution

47.Factorise: (z + 1)(z + 3)(z — 4)(z — 6) + 24

° Watch Video Solution



https://dl.doubtnut.com/l/_TX28NwB5KAwa
https://dl.doubtnut.com/l/_9HDsedPt5Ims
https://dl.doubtnut.com/l/_ZqVpT9d4rlyC
https://dl.doubtnut.com/l/_PSXaiN5JT9yS
https://dl.doubtnut.com/l/_kGA7viWD97UD
https://dl.doubtnut.com/l/_LAGkjyNehY67

48.Factorise: z(x + 1)(z + 2)(z + 3) — 15

o Watch Video Solution

49, Factorise : z* +z2 -2

o Watch Video Solution

1
50. Factorise : 22 — (2a + E)a: + 2

o Watch Video Solution

51. Factorise: p(p — 1)(p — 2)(p — 3) — 120

o Watch Video Solution

52. Factorise : x> + 3z — (a2 +a— 2)


https://dl.doubtnut.com/l/_LAGkjyNehY67
https://dl.doubtnut.com/l/_GKEmpoBwvRNN
https://dl.doubtnut.com/l/_BUVIs4ImACbv
https://dl.doubtnut.com/l/_3y3VezoNkeVK
https://dl.doubtnut.com/l/_pHhFWy43NuGz

° Watch Video Solution

53.Factorise: z(z + 1)(z +2) — 3z — 3

° Watch Video Solution

54, Factorise : #2 + 2zy + y* — bz — 5y + 6

° Watch Video Solution

55. Factorise: (a — 1)z* + = — (a — 2)

° Watch Video Solution

56. Factorise (using factor theorem) : 1222 — 7z + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_pHhFWy43NuGz
https://dl.doubtnut.com/l/_abeq4Rxtk6YV
https://dl.doubtnut.com/l/_46MPA5JRhSra
https://dl.doubtnut.com/l/_zGKqtZLRqDyJ
https://dl.doubtnut.com/l/_gnvbTVD8tBDf
https://dl.doubtnut.com/l/_CXjhboshRTmE

57. Factorise (using factor theorem) : 2z% — 52% + 622 — bz + 2

° Watch Video Solution

58. Factorise : z(y — 2)° + y(z — ) + 2(z — y)* + 8xyz

° Watch Video Solution

59. Factorise : a*(b — ¢) + b*(c — a) + c*(a — b)

° Watch Video Solution

60. Factorise : a* (b2 — c2) + b (02 - a2) + ¢t (a2 — b2)

° Watch Video Solution

Examples Mcq


https://dl.doubtnut.com/l/_CXjhboshRTmE
https://dl.doubtnut.com/l/_RMJOXM6xSGVh
https://dl.doubtnut.com/l/_dLrvY6XNqtrv
https://dl.doubtnut.com/l/_0cg4RfZ8APTa
https://dl.doubtnut.com/l/_HACpF8XS2nwa

LIF (z—a)l+@-0*+(x—-0c’-3—-a)(z—b(z—c) =0,

then x =

D.a+b—|—c

Answer: D

o Watch Video Solution

2. The number of factors of (a6 — b6) is -

A1l
B.2
C.3

D.4


https://dl.doubtnut.com/l/_HACpF8XS2nwa
https://dl.doubtnut.com/l/_UgiKVqb2voBf

Answer: D

° Watch Video Solution

3. (41° + 1) is divisible by

A. 40
B. 41
C.42

D. 43

Answer: C

° Watch Video Solution

3 b3 3_3b
4.Ifa = —1,b=2,c =3, then wrote axe =

(a—b)°+(b—c)’+(c—a)

A.O


https://dl.doubtnut.com/l/_UgiKVqb2voBf
https://dl.doubtnut.com/l/_GemBZ1xu50jO
https://dl.doubtnut.com/l/_8hrm0s5Njdql

C.1

D.2

Answer: D

° Watch Video Solution

; (4.125)° — (0.125)°

(4.125)% + 4.125 x 0.125 + (0.125)°
A.4.25
B.4

C.—4.25

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8hrm0s5Njdql
https://dl.doubtnut.com/l/_SGuWgPr1z7t9

(999)° -1
(999> —1

A.1000
B. 998

C.999.01

D. 999.001

Answer: D

° Watch Video Solution

7.a3+b3—|—c3—3abc:k(a—l—b—|—c)[(a—b)2+(b—c)2—|—(c—a)2],

then k=


https://dl.doubtnut.com/l/_ndslnbHkxVIz
https://dl.doubtnut.com/l/_4gFGAel7fGPU

D. 2

Answer: B

° Watch Video Solution

Examples Short Answer Type Questions

1. Factorise : 24a® — 3

° Watch Video Solution

2.Factorise: z° — 6z + 4

Az — 6z +4


https://dl.doubtnut.com/l/_4gFGAel7fGPU
https://dl.doubtnut.com/l/_y6VI0M2sprs1
https://dl.doubtnut.com/l/_L5xE9BMJPj8d

Answer: (z — 2) (z* + 2z — 2)

o Watch Video Solution

3.Factorise : z° — 4z + 3

o Watch Video Solution

4. Factorise : z° + 5z — 6

o Watch Video Solution

5.Factorise : 2° — 3z + 2

o Watch Video Solution

6. Factorise : m% — 64n°



https://dl.doubtnut.com/l/_L5xE9BMJPj8d
https://dl.doubtnut.com/l/_J2DGFQoLtJkT
https://dl.doubtnut.com/l/_xX5yI6N6iblH
https://dl.doubtnut.com/l/_XxScq358vkGZ
https://dl.doubtnut.com/l/_C1sPcsBVS6qH

I & Watch Video Solution

7.Factorise : z° + 2z + 3

° Watch Video Solution

8.Factorise: 2a° — a® — 1

° Watch Video Solution

9. Factorise: 3y> + 2y + 5

o Watch Video Solution

10. Factorise : a® — 12a — 16

o Watch Video Solution



https://dl.doubtnut.com/l/_C1sPcsBVS6qH
https://dl.doubtnut.com/l/_Wj8rIHeln6f8
https://dl.doubtnut.com/l/_g0WYCL8Il2RN
https://dl.doubtnut.com/l/_EKJYLPTMmr1X
https://dl.doubtnut.com/l/_ED4UJKdoi8Eg
https://dl.doubtnut.com/l/_4JmC2v8DO3QO

1. Factorise : 22 + 5z + 6

o Watch Video Solution

12. Factorise : p* — Tp — 6

o Watch Video Solution

13. Factorise : z° — 322 + 4

o Watch Video Solution

14. Factorise : a® — a® — 18

o Watch Video Solution

15. Factorise : 8a® + 4a — 3



https://dl.doubtnut.com/l/_4JmC2v8DO3QO
https://dl.doubtnut.com/l/_bubAjGIzbCo6
https://dl.doubtnut.com/l/_KE0FB3lGN3pp
https://dl.doubtnut.com/l/_rFAAChYYxgm8
https://dl.doubtnut.com/l/_xo4LTuJxPIYV

I & Watch Video Solution

16. Factorise : 2% + 27

° Watch Video Solution

17. Factorise : 2% — 64

° Watch Video Solution

18. Factorise : 8(z — 3)° + 343

o Watch Video Solution

19. Factorise : z'% — y12

o Watch Video Solution



https://dl.doubtnut.com/l/_xo4LTuJxPIYV
https://dl.doubtnut.com/l/_aQJCaHRPoEnR
https://dl.doubtnut.com/l/_UsMAKn8ZQ23F
https://dl.doubtnut.com/l/_xyi1XYJA8mSc
https://dl.doubtnut.com/l/_Ks1PBvAKmkXQ
https://dl.doubtnut.com/l/_nkC4HyvinIha

20. Factorise : £ — 512

o Watch Video Solution

21. Factori = + i
.Factorise: — + —
8a3 b3

o Watch Video Solution

22. Factorise : a® + 3a%b + 3ab®> + b° — 8

o Watch Video Solution

23. Factorise : 8a®> — b® — daz + 2bz

o Watch Video Solution

24. Factorise : ° — 622 + 12z — 35



https://dl.doubtnut.com/l/_nkC4HyvinIha
https://dl.doubtnut.com/l/_cC2RpC60gTo4
https://dl.doubtnut.com/l/_i2PeHM7GCV0J
https://dl.doubtnut.com/l/_Yow6k27e7O6v
https://dl.doubtnut.com/l/_usU3BPYqJinT

I & Watch Video Solution

) 3 1 2
25.Factorise: z° + — — 22 — —
x3 T

o Watch Video Solution

26. Factorise : 8a® — b + 1 + 6ab

o Watch Video Solution

27.Factorise : a® + 32a% — 64

o Watch Video Solution

28. Factorise : % + 3 — 122y + 64

o Watch Video Solution



https://dl.doubtnut.com/l/_usU3BPYqJinT
https://dl.doubtnut.com/l/_O1L6HsI8KWZh
https://dl.doubtnut.com/l/_fqgcsbnYZJYq
https://dl.doubtnut.com/l/_WV4ivOFlgHgh
https://dl.doubtnut.com/l/_Iy5JzHhCiwAt
https://dl.doubtnut.com/l/_85RiNWrmcqlG

3 3

29. Factorise : (22 — y)* — (z + v)* + (2y — )

o Watch Video Solution

1 26
30. Factorise : a® + — + —
actorise: a” + e + o7

o Watch Video Solution

31. Find the value of (80)® — (51)* — (29)°

o Watch Video Solution

32.fa+b+c=09,a% + b+ c? =27 and a® + b® + ¢ = 81 then find

the value of 3abc.

o Watch Video Solution



https://dl.doubtnut.com/l/_85RiNWrmcqlG
https://dl.doubtnut.com/l/_mCUk9OIk52FR
https://dl.doubtnut.com/l/_LmabRj3s74oY
https://dl.doubtnut.com/l/_BK8iFTR0NLbi

33. a+b+c=38,abc = 8 and ab + bc + ca = 10 the determine the

value of a® + b + ¢

o Watch Video Solution

34 Prove that
a b\?3 b c c a\s B 3(ca — bz) (ab — 62) (bc — a2)
(3 B E) (E B E) * (E B 3) - 2h2c2

o Watch Video Solution

1. Factorise : 4z* + 1

° Watch Video Solution

2.Factorise: z* — Tz2 + 1


https://dl.doubtnut.com/l/_Uz8J6YztH9lu
https://dl.doubtnut.com/l/_Wo3eBWoTIhAy
https://dl.doubtnut.com/l/_Vcv6mmetZCII
https://dl.doubtnut.com/l/_nnzwQo2R2wt5

o Watch Video Solution

3. Factorise : 4z — 822 + 1

o Watch Video Solution

4. Factorise : 64z + 81y*

o Watch Video Solution

8

5. Factorise : % — 3®

o Watch Video Solution

6. Factorise : z'6 — y1¢

o Watch Video Solution



https://dl.doubtnut.com/l/_nnzwQo2R2wt5
https://dl.doubtnut.com/l/_g9u2AT76jGNG
https://dl.doubtnut.com/l/_dLM8MWlZ7kz2
https://dl.doubtnut.com/l/_BVA9Iv7xBgwp
https://dl.doubtnut.com/l/_nJtgzs2zrgbO
https://dl.doubtnut.com/l/_UFF5x6SojzSR

7. Factorise : 128z* + 162

° Watch Video Solution

8.Factorise: 1 — a® + 2ab — b?

° Watch Video Solution

9. Factorise : 4a®> — b> + 2a + b

° Watch Video Solution

10. Factorise : 4% — y% + 2z — 2y — 3zy

° Watch Video Solution

1. Factorise : 9a> — 24ab + 166> + 3azx — 4bx


https://dl.doubtnut.com/l/_UFF5x6SojzSR
https://dl.doubtnut.com/l/_YKdL91vKhrHf
https://dl.doubtnut.com/l/_1CWgwazO2f0N
https://dl.doubtnut.com/l/_4fn7QRXs34L5
https://dl.doubtnut.com/l/_kG0gRpe5l6cZ

o Watch Video Solution

12. Factorise : > + b*> — ¢ — 2ab

o Watch Video Solution

13. Factorise : a> — 6ab + 12bc — 4c°

o Watch Video Solution

14. Factorise : 2 + 2z — 22499

o Watch Video Solution

15. Factorise : 3a% — b — ¢ + 2ab — 2bc + 2ca

o Watch Video Solution



https://dl.doubtnut.com/l/_kG0gRpe5l6cZ
https://dl.doubtnut.com/l/_8NYQ8hqn2jb6
https://dl.doubtnut.com/l/_5CZEbmTrf5Dt
https://dl.doubtnut.com/l/_JA9XpZLMY6g1
https://dl.doubtnut.com/l/_PSe1SOFfEjx2
https://dl.doubtnut.com/l/_9uFjCP3XL2sp

1 3
16. Factorise :a®> + — + 2 — 3a — —
a? a

° Watch Video Solution

4 4
. x Y

17. Fact P oo
actorise 16 %5

o Watch Video Solution

18. Factorise : z* — 11a:2y2 -+ y4

o Watch Video Solution

19.Factorise : (z* — y*) (a® — b*) — dabzy

o Watch Video Solution

20. Factorise : (4z” — 1) (4y* — 1) + 16zy


https://dl.doubtnut.com/l/_9uFjCP3XL2sp
https://dl.doubtnut.com/l/_ZMAdiYA9lkZl
https://dl.doubtnut.com/l/_vPnlunkbZUAb
https://dl.doubtnut.com/l/_pYzEnKBdYXBC
https://dl.doubtnut.com/l/_44Deju1lXo0c

o Watch Video Solution

21. Factorise : 22 — 2az + (a + b)(a — b)

o Watch Video Solution

22. Factorise : 4a®> — 12ab + 9b% + 2a — 3b

o Watch Video Solution

23.Factorise: (a +b)° —a — b

o Watch Video Solution

24. Factorise : 2a® — 32

o Watch Video Solution



https://dl.doubtnut.com/l/_44Deju1lXo0c
https://dl.doubtnut.com/l/_EpEON3us7KZ5
https://dl.doubtnut.com/l/_i2jim2jkvNR2
https://dl.doubtnut.com/l/_oPjfDLBwHDJ4
https://dl.doubtnut.com/l/_uYpvpR9bA8qd
https://dl.doubtnut.com/l/_dIMTQm6mV8bA

25. Factorise : b — ac — be + ab

° Watch Video Solution

26. Factorise : 222 + Yz — 22y — 2z

° Watch Video Solution

27.Factorise: ¢ + bc> — ba®? — a

° Watch Video Solution

28.Factorise : z* + 22 + 1

° Watch Video Solution

29, Factorise : a* + a%z? + z*


https://dl.doubtnut.com/l/_dIMTQm6mV8bA
https://dl.doubtnut.com/l/_NS5Vp3N7zGCJ
https://dl.doubtnut.com/l/_C5F55KBrHToe
https://dl.doubtnut.com/l/_tOs0FZOWwsp7
https://dl.doubtnut.com/l/_uWD4GL29AEPq

° Watch Video Solution

30. Factorise : 4a®> — 4ab — ¢ — 2bc

° Watch Video Solution

Exercise 2 2 A Factorise The Following Polynomials

1.z° — 192 — 30

o Watch Video Solution

2.82° + 8z —5

o Watch Video Solution

3.0 —2d> +1



https://dl.doubtnut.com/l/_uWD4GL29AEPq
https://dl.doubtnut.com/l/_i5DemdVsEFX6
https://dl.doubtnut.com/l/_gL6HnUs413Wg
https://dl.doubtnut.com/l/_6sXXxpwZol7Y
https://dl.doubtnut.com/l/_ig1x22L3g6Ih

o Watch Video Solution

4. Factorise: 4a® — 3a + 1

o Watch Video Solution

5.Factorise: z° + = — 2

o Watch Video Solution

Exercise 2 2 B Factorise The Following Polynomials

1.8z% + 27

o Watch Video Solution

2.82% — 27



https://dl.doubtnut.com/l/_ig1x22L3g6Ih
https://dl.doubtnut.com/l/_1gmcFgu7kgLK
https://dl.doubtnut.com/l/_0sOFv7zCiYTs
https://dl.doubtnut.com/l/_4aM8q2q4Cb29
https://dl.doubtnut.com/l/_i0k7Xg9AvyqF

I ° Watch Video Solution

3.42° + 108y°

° Watch Video Solution

4.2° — 8(y — 2)°

° Watch Video Solution

5.2 — 9y + 3% —3y+1

° Watch Video Solution

6.2z% + a:zy + y3

° Watch Video Solution



https://dl.doubtnut.com/l/_i0k7Xg9AvyqF
https://dl.doubtnut.com/l/_GN9cOKEtY3HN
https://dl.doubtnut.com/l/_dNzSdg08Du5i
https://dl.doubtnut.com/l/_wvElKFsP6ALx
https://dl.doubtnut.com/l/_d0uC89qcie2m
https://dl.doubtnut.com/l/_riFPtHdkIYbX

7.63a® + 6a®> — 12a + 8

o Watch Video Solution

8.a° — 9° + (a + b)*

o Watch Video Solution

3 2

9.m® —n

—m(m® —n?) + n(m —n)’

o Watch Video Solution

8
10. Factorise : 22 — —
T

o Watch Video Solution

1.125m'% — 729n!2



https://dl.doubtnut.com/l/_riFPtHdkIYbX
https://dl.doubtnut.com/l/_NnLkQw4ZDNYC
https://dl.doubtnut.com/l/_NJjLXGacYJcy
https://dl.doubtnut.com/l/_rvOEo8d6Umzi
https://dl.doubtnut.com/l/_O4BinrPQX3HP

I ° Watch Video Solution

12.27 + z* — 162° — 16

° Watch Video Solution

13.162° — 81z% — 162* + 81

° Watch Video Solution

14.2a° — a’b — b°

° Watch Video Solution

15.92%% — 576y* — 42® + 256>

° Watch Video Solution



https://dl.doubtnut.com/l/_O4BinrPQX3HP
https://dl.doubtnut.com/l/_lV7vB04f95ug
https://dl.doubtnut.com/l/_L1NsqS1dx1gr
https://dl.doubtnut.com/l/_U5td6FLjRRNX
https://dl.doubtnut.com/l/_ycL0vW831kN7
https://dl.doubtnut.com/l/_yqlSXzdChV2G

16.32z* — 500z

° Watch Video Solution

17.AR® — Ar® + AR?>h — Ar*h

o Watch Video Solution

18.729z5 — 48

o Watch Video Solution

19. (20 — ¥)° — v°

o Watch Video Solution

20.a° + 9° + (a — b)®



https://dl.doubtnut.com/l/_yqlSXzdChV2G
https://dl.doubtnut.com/l/_ncHP4KnGaQZV
https://dl.doubtnut.com/l/_khBhsEbhfuwu
https://dl.doubtnut.com/l/_VbAkOXnbUbdD
https://dl.doubtnut.com/l/_sJMbvIxxI3A9

I o Watch Video Solution

Exercise 2 2 C Factorise The Following Polynomials

1.8a% — 276% — 1 — 18ab

° Watch Video Solution

2.1+ 8z% + 18zy — 27°

° Watch Video Solution

3.1+ b+ 8 — 6be

° Watch Video Solution

4.0° — b + 1+ 3ab



https://dl.doubtnut.com/l/_sJMbvIxxI3A9
https://dl.doubtnut.com/l/_rn8irAqfsXmE
https://dl.doubtnut.com/l/_5t5uMiXHbJmN
https://dl.doubtnut.com/l/_R37fjOqJVS65
https://dl.doubtnut.com/l/_qigJ8WS7NIhu

| ° Watch Video Solution

5.Factorise : a® — 5a® + 8

° Watch Video Solution

6. Factorise : a® — 18a® + 125

° Watch Video Solution

4
7.Factorise: z° + — + —7
x3 64

° Watch Video Solution

8. Factorise : 21/2a® + 8b® — 27¢® + 184/2abc

° Watch Video Solution



https://dl.doubtnut.com/l/_qigJ8WS7NIhu
https://dl.doubtnut.com/l/_rA2DkMktt4Rr
https://dl.doubtnut.com/l/_LFs7QN2wCCnM
https://dl.doubtnut.com/l/_iUHqiwUE1GGF
https://dl.doubtnut.com/l/_0LAegPDUOQ3o
https://dl.doubtnut.com/l/_69DAsnNRnFmJ

9.23 + 8y + 272 — 18zyz

° Watch Video Solution

10. 23 — 8y® + 642% + 24zyz

° Watch Video Solution

-y’ +@y-2°"+ (-2’

° Watch Video Solution

12. (2a — 3b)° + (4c — 2a)® + (3b — 4¢)°

° Watch Video Solution



https://dl.doubtnut.com/l/_69DAsnNRnFmJ
https://dl.doubtnut.com/l/_9l1mWfEvcqs0
https://dl.doubtnut.com/l/_PpJolOWaaTtP
https://dl.doubtnut.com/l/_EQ0RImd95OBE

13. Factorise

T Z\3 z 2y 3 5t Y 42\°
_+ J— _— — — —_ — R
(2 er3)+(3 3+Z) <6+3+3)

o Watch Video Solution

M.(1-2°—1-9)°+(z -y’

o Watch Video Solution

15. (5a — 76)° + (9¢ — 5a)* + (b — 9¢)°

o Watch Video Solution

16. (3a — 2b)° + (2b — 5¢)* + (5¢ — 3a)®

o Watch Video Solution



https://dl.doubtnut.com/l/_mhyFRFY9MNy8
https://dl.doubtnut.com/l/_Hh40z9ckHGyU
https://dl.doubtnut.com/l/_jPNACwhJo8yz
https://dl.doubtnut.com/l/_r82A6uXtbDQ5

7.2z —y)° — (2 +9)° + (2y — 2)°

o Watch Video Solution

18.(a — 2b)® + (c — a)® + (26— ¢)®

o Watch Video Solution

Exercise 2 2 D Calculate

1.(101)* — (51)* — (50)°

° Watch Video Solution

2.(41)% — (21)® — (20)°

° Watch Video Solution



https://dl.doubtnut.com/l/_pHEF1U7UgPJM
https://dl.doubtnut.com/l/_ZILBGX15gpbb
https://dl.doubtnut.com/l/_LHji8reYwGvx
https://dl.doubtnut.com/l/_dQMd3N6nA0Ua
https://dl.doubtnut.com/l/_mddYjhHOBTHU

3.a+bt+c=6,a>+b+c® =14 and a® + b* + ¢ = 36 then find

the value of 3abc.

° Watch Video Solution

4.1f x =y = 222 and z = 223, then find the value of 2® + 3 + 23 — 3zyz

° Watch Video Solution

5 If a+b+c=10,a®+b>+c* =38 and a® + b® + ¢ = 160 then

find the value of 3abc.

° Watch Video Solution

6. Find the value of a® + b® + ¢® — 3abc, when

a+b+c=28 ab+ bc+ ca =19

° Watch Video Solution



https://dl.doubtnut.com/l/_mddYjhHOBTHU
https://dl.doubtnut.com/l/_sjRueGY1q0S4
https://dl.doubtnut.com/l/_QnNRhJLyH4DJ
https://dl.doubtnut.com/l/_zrdFu4RUfHqJ

7.Find the value of a® + b* + ¢® — 3abc, when

a+tb+c=5a2+0+c =11

° Watch Video Solution

1.Showthat (1 —a)® + (b—1)> + (a — b)® = 3(1 — a)(b— 1)(a — b)

° Watch Video Solution

2.Ifz =2 — kProvethat z® + 6zk + k> — 8 =0

° Watch Video Solution

3.If x+y+2z=0,then prove that z* + 3 + 23 = 3zyz



https://dl.doubtnut.com/l/_zrdFu4RUfHqJ
https://dl.doubtnut.com/l/_M5n9TxCp147w
https://dl.doubtnut.com/l/_7T2V2kCv9ihi
https://dl.doubtnut.com/l/_vlAiG5w4BQwX
https://dl.doubtnut.com/l/_JFXmqB7pqWg5

| & Watch Video Solution I

4, Prove that
((12 . b2)3 + (b2 . Cz)3 + (02 - a2)3
(a—b>+(b-10c)>+(c—a)®

=(a+b)(b+c)(c+ a)

° Watch Video Solution

20 +1
2

L(e - 3)(=—5) - —

o Watch Video Solution

128

o Watch Video Solution



https://dl.doubtnut.com/l/_JFXmqB7pqWg5
https://dl.doubtnut.com/l/_RN82l9atJGic
https://dl.doubtnut.com/l/_D7jlfIFRdDVP
https://dl.doubtnut.com/l/_pqufiLZdUl4d

3.Factorise : 1022 — = — 11

o Watch Video Solution

4.Factorise : 4a> + 11a + 6

o Watch Video Solution

5.Factorise: 42> — z — 5

o Watch Video Solution

6.Factorise: 822 — 10z — 7

o Watch Video Solution

7.Factorise: 3 — 13a + 10a>


https://dl.doubtnut.com/l/_yilunJFXSqsT
https://dl.doubtnut.com/l/_pgaaZmgltxTl
https://dl.doubtnut.com/l/_JbMGwQVmZNAt
https://dl.doubtnut.com/l/_bvrGTUtCqzox
https://dl.doubtnut.com/l/_rN74zrMhnvx3

o Watch Video Solution

8. Factorise: 5 + 3a — 14a2

o Watch Video Solution

9. Factorise : 18z + 3lzy — 20y>

o Watch Video Solution

1
10. Factorise : §a2 —2a —9

o Watch Video Solution

1. Factorise : 22 — 2z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_rN74zrMhnvx3
https://dl.doubtnut.com/l/_hCYWIoO6dki8
https://dl.doubtnut.com/l/_GE2kNBMCHoSv
https://dl.doubtnut.com/l/_3VtC1UcZYT7x
https://dl.doubtnut.com/l/_AiYFcTZIgE0v
https://dl.doubtnut.com/l/_JAzmqQcx2W1m

12. Factorise :6,/3a® — 21a + 5/3

° Watch Video Solution

13. Factorise : 4(x2 — 293)2 + 11(:02 —2z) + 6

° Watch Video Solution

14. Factorise :3(a + b)® + 10(a® — v*) — 25(a — b)®

° Watch Video Solution

15. Factorise :2(m2 + n2)2 — 3mn(m2 + n2) — 2m?®n?

° Watch Video Solution

16. Factorise :7(a2 + b2)2 — 15(0,4 — b4) + 8(0,2 — b2)2


https://dl.doubtnut.com/l/_JAzmqQcx2W1m
https://dl.doubtnut.com/l/_jwgu7lNjMddn
https://dl.doubtnut.com/l/_0xr0Q42Egjao
https://dl.doubtnut.com/l/_riDMQNyYVBVj
https://dl.doubtnut.com/l/_JBsjc8SjXOcX

° Watch Video Solution

17.Factorise : 2a> — 3a — (p + 1)(2p — 1)

° Watch Video Solution

18. Factorise : axz® + (a2 + 1)w +a

° Watch Video Solution

19. Factorise : a’2® + az — (a + 1)(a + 2)

° Watch Video Solution

20. Factorise :(z — 1)%a® + 2(z* +1)ab+ (z + 1)%p?

° Watch Video Solution



https://dl.doubtnut.com/l/_JBsjc8SjXOcX
https://dl.doubtnut.com/l/_31ths5ttEt3m
https://dl.doubtnut.com/l/_ioK7P6dMwbBe
https://dl.doubtnut.com/l/_u4Y3laVeRtSm
https://dl.doubtnut.com/l/_H6RQeuJYNCgY
https://dl.doubtnut.com/l/_xDY5eSfaJNS6

21.Factorise :(a — b)’z? + 4abzy — (a + b)*y?

° Watch Video Solution

22. Factorise :(z + y)r? + 2zr + (z — y)

° Watch Video Solution

23. Factorise : (a2 +1) z? + a® (a2 + 1)z — (a2 +1)

° Watch Video Solution

24. Factorise :(a,2 —a— 2):1:2 —3x -1

° Watch Video Solution

25. Factorise :(a,2 — b2) (m2 + 1) — 2(a2 + bz)x


https://dl.doubtnut.com/l/_xDY5eSfaJNS6
https://dl.doubtnut.com/l/_exJCWFqmfPgL
https://dl.doubtnut.com/l/_QutLNieOof0J
https://dl.doubtnut.com/l/_k7LgNILkUv6k
https://dl.doubtnut.com/l/_p1F0YPhseKc5

° Watch Video Solution

26. Factorise :(:/1:2 — 1)2 + 8z (m2 + 1) + 1922

° Watch Video Solution

27.Factorise : (a — 1)z + a’zy + (a + 1)y?

° Watch Video Solution

1 1
28. Factorise : 4<a2 + —> — 4<a — —) — 11
a? a

o Watch Video Solution

29. Factorise : 2a> + b®> — ¢® + 3ab + ac

o Watch Video Solution



https://dl.doubtnut.com/l/_p1F0YPhseKc5
https://dl.doubtnut.com/l/_WWG3z5j8rBoI
https://dl.doubtnut.com/l/_UWVSYh2Cb1tt
https://dl.doubtnut.com/l/_NDpfiWBFSUOB
https://dl.doubtnut.com/l/_Hz9lDB1pTXJ9

30. Factorise : (2 — /3)z? + 4z + (2 + /3)

o Watch Video Solution

31.Factorise : (/3 — 1)z° — 2z — (/3 + 1)

o Watch Video Solution

32.Factorise : (v/2 — 1)z° + 2/2z + (2 + 1)

o Watch Video Solution

1. Factorise (Using factor theorem ) : 3 — 4z +3

° Watch Video Solution



https://dl.doubtnut.com/l/_pOk6CzkIbuLx
https://dl.doubtnut.com/l/_VcSDb0Nc3EYT
https://dl.doubtnut.com/l/_R5PQVpFPilvp
https://dl.doubtnut.com/l/_bZFdPeyhnTCp
https://dl.doubtnut.com/l/_2yBR3dhXmCdQ

2. Factorise (Using factor theorem ) : a®> — 12a — 16

° Watch Video Solution

3. Factorise (Using factor theorem ) : 2a® — a® — 1

° Watch Video Solution

4. Factorise (Using factor theorem ) : a® —Ta+6

° Watch Video Solution

5. Factorise (Using factor theorem ) : z2 + 5z — 6

° Watch Video Solution

6. Factorise (Using factor theorem ) : 23 — 3z + 2


https://dl.doubtnut.com/l/_2yBR3dhXmCdQ
https://dl.doubtnut.com/l/_QPJu3fTQ5qEs
https://dl.doubtnut.com/l/_3qmjzra0h22c
https://dl.doubtnut.com/l/_EPSMxg6udKYg
https://dl.doubtnut.com/l/_jpYnUup8r42i

° Watch Video Solution

7. Factorise (Using factor theorem ) 3y3 +2y+5

° Watch Video Solution

8. Factorise (Using factor theorem ) : > — Tz — 6

° Watch Video Solution

9. Factorise (Using factor theorem ) : 2 + bx + 6

° Watch Video Solution

10. Factorise (Using factor theorem) : 2¢° — 3z — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_jpYnUup8r42i
https://dl.doubtnut.com/l/_VGaPrNehMgNX
https://dl.doubtnut.com/l/_unmCZoOeD5z2
https://dl.doubtnut.com/l/_hhmkZ39az4sT
https://dl.doubtnut.com/l/_Iab7LL5kwevk
https://dl.doubtnut.com/l/_6qMPHcE3EXPu

11. Factorise (Using factor theorem ) : 2a® — 5a — 6

° Watch Video Solution

12. Factorise (Using factor theorem ) : 36 — T2 — 2°

° Watch Video Solution

13. Factorise (Using factor theorem ) : 323 — Tz + 8z — 12

° Watch Video Solution

14. Factorise the following: > — 222 — 5z + 6

° Watch Video Solution

15. Factorise (Using factor theorem ) : a® —7a* +Ta+ 15


https://dl.doubtnut.com/l/_6qMPHcE3EXPu
https://dl.doubtnut.com/l/_USbDJb87L7y6
https://dl.doubtnut.com/l/_4DvRO5edr3cz
https://dl.doubtnut.com/l/_KSYVw9T27OdY
https://dl.doubtnut.com/l/_Dn8KV8zLadRL

° Watch Video Solution

16. Factorise (Using factor theorem ) : 2a® — 5a’b + 6ab® + 3b°

° Watch Video Solution

17. Factorise (Using factor theorem ) : z + 4z® — T2? — 34z — 24

° Watch Video Solution

18. Factorise (Using factor theorem) :p° — 3pg® + 2¢°

° Watch Video Solution

Exercise 2 4 Mcq
a2 b2 2

1.fa+b+c=0, then—+——|—c—:
be ca ab


https://dl.doubtnut.com/l/_Dn8KV8zLadRL
https://dl.doubtnut.com/l/_YUOfjZveK2ER
https://dl.doubtnut.com/l/_kYv4YERZwpuF
https://dl.doubtnut.com/l/_zL3ut6y11MOD
https://dl.doubtnut.com/l/_V5IHkCilaQSd

A.O

C.1

D.3

Answer: D

o Watch Video Solution

2.1fa%a%a* =1, then z® +¢% + 2% =7

o Watch Video Solution

3 (z-9°+@y—2°"+(z—2)
 (z—y)(y—2)(z—x)

A. 3xyz

B.3


https://dl.doubtnut.com/l/_V5IHkCilaQSd
https://dl.doubtnut.com/l/_WDTYxA7216gN
https://dl.doubtnut.com/l/_prEO4CmLlLS1

C. xyz

D.O

Answer: D

o Watch Video Solution

4.1fa® + b* + ¢ = 3abc and a + b+ ¢ # 0, then

A.a=2b +c
B.b =2c+a
C.a=b=c

D.c=2a+b

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_prEO4CmLlLS1
https://dl.doubtnut.com/l/_CWo4TN7gSeK2

5. The number of factors of the polynomial (m2 + bx + c) is

Al
B.2
C.3

D.4

Answer: B

o Watch Video Solution

6.1f 2> — pz + 8 = (z — 2)(z — 4) be an identity, then p =

A.O
B.2
C.4

D.6


https://dl.doubtnut.com/l/_nDg1mYPqfhsE
https://dl.doubtnut.com/l/_vPIb8JiE2oBP

Answer: D

° Watch Video Solution

7.1f one of the factors of 2 + 22 — (p + 1)(p — 1) be 0, then p =

A.O

C.*1

D.2

Answer: C

° Watch Video Solution

8.0ne of the factors of [(2(1 —b)? - (a— 2b)2] is

A.O


https://dl.doubtnut.com/l/_vPIb8JiE2oBP
https://dl.doubtnut.com/l/_HGSA8PSf7OkE
https://dl.doubtnut.com/l/_H0pAYnapVXRH

B.2(a — b)
C.3(a +b)

D.a+b

Answer: D

° Watch Video Solution

9. The identity with the help of which , the polynomial (z* + z* + 1) can

be factorised is

A (a—b)® =a®>—2ab+ b and a®> — b = (a — b)(a + b)
B.(a 4 b)® = a® + 2ab+ b* and a®> — b* = (a — b)(a + b)
C.a’> + b = (a+b)® — 2ab and a® — b* = (a — b)(a + b)

D. is not possible to factorise

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_H0pAYnapVXRH
https://dl.doubtnut.com/l/_3QdUjfhpjKPE

10. If x and y (z > y) be two positive integers and 2% — y* = 11 x 9,
then

Az =100,y =1

B.x =11,y =9

Cz=10,y=1

D.z =22,y =2

Answer: C

° Watch Video Solution

11.Ifg—|—£ =1 then a® +0® =
b a

A0

B.1


https://dl.doubtnut.com/l/_3QdUjfhpjKPE
https://dl.doubtnut.com/l/_Quw1dqVtVehe
https://dl.doubtnut.com/l/_XgYXa9D2TGoh

D.b

Answer: A

° Watch Video Solution

12.1f 22 — pz + 12 = (z — 3)(z — a) be an identity, then the values of a

and p are respectively-

Aa=4p=T
B.a=T7,p=4
Ca=4,p= —17
D.a= —4,p="7
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XgYXa9D2TGoh
https://dl.doubtnut.com/l/_gFUsF7ot9VBc

13.25% — 75% £ 50% + 3 x 25 x 75 x 50 =

A. 150
B.O
C. 25

D. 50

Answer: B

° Watch Video Solution

Exercise 2 4 Short Answer Type Questions

1.Ifa+b+c=0,then prove that a® + b* + ¢ = 3abc

° Watch Video Solution



https://dl.doubtnut.com/l/_zPEML2kjpUBE
https://dl.doubtnut.com/l/_uTAvsYntFaYe

2. Prove that (w201 + 1) is divisible by (x+1).

o Watch Video Solution

3. If a=1,b =2, c = 3, then find then value of

202 + 202 + 22 — ab — bec — ca
a3 + b3 + 3 — 3abe

° Watch Video Solution

4.show that (17° + 7°) is divisible by 24.

° Watch Video Solution

5.fa+b+1=0,determine the value of (a® + b* — 3ab + 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_aI02bpYNpD6h
https://dl.doubtnut.com/l/_GLVy3tzCxhCM
https://dl.doubtnut.com/l/_qalT0UCeHZJr
https://dl.doubtnut.com/l/_TCeyjYgYKHmp

6.I1f a=b =c=99999, then find the value of (a3 +b 4+ — 3abc)

o Watch Video Solution

7Z.if a+b+c=8and ab + bc + ca = 11, then find the value of

a® + b + & — 3abe

o Watch Video Solution

8 If 3x = a + b + ¢ , then find the value of

(x—a)®+ (@ -0+ (z—¢)® -3z —a)(x—b)(z—c)

o Watch Video Solution

9.1f > — b = 224 where a and b are negative integers (a < b) then find

the value of a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_CJo9eVt4kJDC
https://dl.doubtnut.com/l/_dDWSNdxmGI3n
https://dl.doubtnut.com/l/_BTjFhErxAE85
https://dl.doubtnut.com/l/_WEEKW39f0EZw

10. If ¢ be a whole number , but not a natural number and if

a? b?
> + e 3c then find (a3 + b0+ - 3abc).

° Watch Video Solution

11. Find the value of (0.01)* — (0.011) + (0.001)* + 0.00000033

° Watch Video Solution

(b2a . c2a)3 + (c2a . a2a)3 + (a2a . b2u,)3

(b — ¢)® + (¢* — a)® + (a® — b)°

12. Find :

° Watch Video Solution

13. If 3s = a + b + C , then

(s—a)’+(s—b)°+(s—¢)° +3(s—a)(s—b)(s—c)

find

° Watch Video Solution



https://dl.doubtnut.com/l/_WEEKW39f0EZw
https://dl.doubtnut.com/l/_HxuqRBxob1Pg
https://dl.doubtnut.com/l/_3qcDLJbR60ue
https://dl.doubtnut.com/l/_FkfpIslxrKLe
https://dl.doubtnut.com/l/_N8eYFj7Iq97U

14. Calculate : (80)° — (20)° — (60)°

o Watch Video Solution

10% + 4°

15. Calculate : 5
10 — 24

o Watch Video Solution

16.1f a + b +5 =0, then find the value (a3 + b — 15ab + 125)

o Watch Video Solution

17.1f a-b =- 1 then find the value of (a3 — b + 3ab + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_N8eYFj7Iq97U
https://dl.doubtnut.com/l/_6zrVM1tH002e
https://dl.doubtnut.com/l/_Gs2D13j2osji
https://dl.doubtnut.com/l/_ZRNdMWkCTzpy
https://dl.doubtnut.com/l/_ZCXKTt16Oh5T

2
18.1f @ # 0, determine the number of factors of ka? — 77

o Watch Video Solution

19.1f z — kx> + 4 = (2 + 1)(z — a) be an identity , then find the value

ofkand a.

o Watch Video Solution

20.1f a and b be two positive integers (a > b) such that a®> — b* = 399 ,

then find the valueofaand b .

o Watch Video Solution

3 3 3
1652 + Y 1 2 0, thenfind [(3) 1 (2) +(ﬁ) ]
Yy z z Y z T

° Watch Video Solution



https://dl.doubtnut.com/l/_SUS6H20vyS3O
https://dl.doubtnut.com/l/_FrvmQxDE0fu2
https://dl.doubtnut.com/l/_e4rT8lThhuXt
https://dl.doubtnut.com/l/_QIYKwamT1Zzl

Exercise 2 4 Long Answer Type Questions

1. Factorise : a,(b2 — 02) + b(c2 — a2) + c(a2 — b2)

o Watch Video Solution

2. Factorise : bc(b3 — 03) + ca(c3 — a3) + ab(a3 — b3)

o Watch Video Solution

3.Factorise : a(b + ¢)® + b(c + a)® + ¢(a + b)* — 4abc

o Watch Video Solution

4.Factorise: a*(b + ¢) + b*(c + a) + *(a + b) +a® + b* +

o Watch Video Solution



https://dl.doubtnut.com/l/_JvQhX8WwKuBQ
https://dl.doubtnut.com/l/_gFybl9p2ED6l
https://dl.doubtnut.com/l/_abLzn7tstBQJ
https://dl.doubtnut.com/l/_gWEyOmiM277Q
https://dl.doubtnut.com/l/_xlsSeu4wP7bb

5. Factorise : b*c? (b2 — c2) + Pa? (c2 — a2) + ab? (a,2 — b2)

o Watch Video Solution

6. Factorise : a* (b2 — c2) + bt (c2 — a2) +ct (a2 — b2)

o Watch Video Solution

7.Factorise: (a® — b*)(a +b) + (b* — ) (b+¢) + (¢ — a®)(c+ a)

o Watch Video Solution

8.Factorise: (b+c—a)(c+a —b)(a+ b — c) + 8abc

o Watch Video Solution



https://dl.doubtnut.com/l/_xlsSeu4wP7bb
https://dl.doubtnut.com/l/_W25L0OUNUQbc
https://dl.doubtnut.com/l/_oKU3o71ewLZf
https://dl.doubtnut.com/l/_TXKFqHedY5AS

9. Factorise

x(l + yz) (1 + zz) + y(l + 22) (1 + ac2) + z(l + ac2) (1 + yz) + 4dxyz

o Watch Video Solution

10. Factorise: (z + y + 2) (a:3 +y* 4+ 2+ :cyz) —gt -yt -2

o Watch Video Solution

1. Factorise : z(b — c) + b*(c — z) + *(z — b)

o Watch Video Solution



https://dl.doubtnut.com/l/_aXKQN7MemYBL
https://dl.doubtnut.com/l/_WBAxvEwTyqBf
https://dl.doubtnut.com/l/_xYr8XyJPLtAr

